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B Eapation 1.7 = 4
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	I can solve more ratio and proportion problems, such as sharing out money between two groups in the ratio of their numbers
	
	

	
	I can solve ratio and proportion problems using the unitary method
	
	

	
	I can calculate proportional changes using a multiplier
	
	

	
	I can solve direct and inverse proportion problems
	
	

	
	I can interpret the graphs of direct and inverse proportion relationships
	
	

	I need to practise …. 


Grade C:  1 to 4 marks

Grade B:  5 to 6 marks

Grade A:  7 to 14 marks


Name:


PROPORTION: Grade A





Key descriptor: Solve direct and inverse proportion problems





Score: __________/14		Grade:______
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7.	Which of the graphs show the relationship between two amounts that are inversely proportional to each other?  Tick the correct one.
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Overall, for this homework I think my success level is: 
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Overall, for this homework I think my success level is: 











1.	Matt, James and Jonathan are three brothers.  Matt is the eldest at 14 years old, while James and Jonathan are 2 and 4 years younger respectively.  They inherit £6000 with the condition that unless they wait until Jonathan is 18, the money is to be shared in the ratio of their ages.  They all want the money now, so how much does each brother get?














________________________________________________________________





2.	A brand of fabric conditioner is sold in two different sized bottles.  450ml costs £1.69, while the 800ml bottle costs £3.09.  Which bottle is better value?











_________________





3.	A cooker is reduced in a sale by 13% to £1,169.  What was the original price of the cooker?








£_________________





4.	h is directly proportional to V and h = 36 when V = 8.  What is the value of h when V = 19?











h = _________________





5.	y is inversely proportional to the square of x.  If y = 0.03 when x = 10, what is the value of y when x = 15?














y = _________________





6.	The graph shows the relationship between two quantities that are in direct proportion, a and b, with a = kb.  What is the value of k?





�


k = ______
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2 marks




















Grade C


2 marks














Grade B


2 marks

















Grade A


2 marks
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3 marks
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2 marks













































































Grade A


1 mark





Total = 





_____/14





























